Exercise 17.1

Q.1 Construct a AABC in which

(i)  mAB=32cm mBC =42cm mCA=52cm
"

5.2cm 4. 2cm

A 3.2cm B
L Draw a line segment mAB =3 2cm
1. Taking A as centre draw an arc of

radius 5.2cm.
o

iii. Taking B as centre draw an arc Df@
&

radius 4.2cm to cut at pot

Iv. JomCtoAand Ct

Thus A4AB(C 1s the required triangle.

(i)  mAB=42cm mBC=39m mCA=3.6cm

A 4.2cm B

L. Draw a line segment
mAB = 4.2cm

il. Taking A as centre draw an arc

of radius 3.6cm.

& 4+ &
1.

V.

(iii)

iv.

L
11.

WWW.pakCit¥.org

Taking B as centre draw an arc o

radius 3.9cm to cut at point C.
Join Cto A and C to B.
Thus AAB( 1s the required triangle.

mAB=4.8an mBC=3.7an m/B=60

A 4.8¢cm B

JE: wne segment mAB = 4.8cm .
faking B as centre draw an angle

of 60°.

Taking B as centre draw an arc of

radius 3.7cm cutting terminal side

of 60°at C.

Join Cto A

Thus AAB(C 1s the required triangle.

mAB=3m mAC=32cm msA=45

A 3cm

Draw a line segment mAB =3cm
Taking A as centre draw an angle of
45°,
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iii.

1v.

(vi)

Taking A as centre draw an arc of
radius 3.2cm to cut the terminal
side of angle at C.

Join C to B.

Thus AAB( 15 the required triangle.

mBC =4.2cm mCA=3.5an m/C=75"

4.2em C
Draw a line segment mBC =4.2cm.

Taking C as centre draw an angle
of 75°.

Taking C as centre draw an arc of @%S
radius 3.5¢m.

Cutting the terminal side
at A.
Join A to B.

Thus AAB( 1s the required triangle.

mAB=25cm m/A=3 ms/B=105

T2.5am

Draw a line segment mAB =2.5¢cm

. Taking A as centre draw an Eﬁgﬁgl% 'Y
30°,

ii. Taking B as centre draw an angle of
105°,

iv. Terminal sides of these two angles
meet at C.
Thus AAB(’1s the required triangle.

(vii) mAB=36cm m/A=75% m/B=45

4

: e aw
ﬁo 4 Thom

Draw a line segment mAB =3.6¢cm.
Taking A as centre draw an angle

of 75°.

1il. Taking B as centre draw an angle
of 45°.

iv. Terminal sides of these two angles

meet at point C.
Thus A4B( 1s the required triangle.

Please visit for more data at: www.pakcity.org

Q.2 Construct a AYYZ in which

(i) mYZ =76cm mXY =6.1cm msX =90




11.

¥ 8
111,

iv.

(1)

1il.

v.

(iii)

Draw a line segment i

Draw a line segment mXY =6.1cm .
Taking X as Centre draw an angle of
0"

Taking Y as Centre draw an arc of
radius 7.6cm to cut terminal sides
of angle at Z.

Join Y to Z.
Thus AXYZ 1s the required triangle.

mZX =6.4cm mYZ =24cm msY =90°

Yo 2d4em

Taking Y as centre draw an angle
of 90°.

Taking Z as centre draw an arc of
radius 6.4cm. Which cuts the
terminal side of angle at X

Jomn X and Z.
Thus AXYZ 1s the required triangle.

mXY =5.5cm mZX =4.5cm msZ ="

/ 4.5em A

.
1L

i1l

1v.

L.
1i.

Iv.

Q.4

(1)
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Draw a line segment 4.5cm.
Taking Z as centre draw an angle
of 90°.
Taking X as centre draw an arc of
radius 5.5cm. Which cut the
terminal side angle at Y.
Join'Y to X,
Thus AXYZ 1s the required triangle.

Construct a right angled A

measure of whose hypotenuse is
Scm and one side is 3.2 cm

¥y N
Construction:
Draw a line segment mAB=5cm .

Bisect ABat M.
Taking M as centre take a radius

AM or BM and draw a semicircle.

Taking A as centre draw an arc of
radius 3.2cm cutting semicircle at
L.
Join C to A and C to B.

Thus A4B( is the required right
angled triangle.
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Construct right angled isosceles
triangle whose hypotenuse 1s

d.2cm long
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(1)

5.2em A B

Construction:

Draw a line segment mAB =52cm.

Bisect AR at point M.

With M as centre draw a semi

circle of radius AM Drm which

intersects the right bisector at C.
Jomn AtoC and B to C.

AABC i1s the required right angle

1sosceles triangle with m.2(C

4.8cm long

d

I

iii.

Iv.

(iii)

-
|
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Iv.

A
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Take a line segment mAB = 4.8cm .

Bisect AR at point M.

Taking M as centre draw a semi

circle of radius AM or MB which
intersects the right bisector at C.
Join A to C and B to C.

Thus ABC is the right angled

1sosceles triangle with (" =90".

6.20m M B

Please visit for more data at: www.pakcity.org

Take a line segment mAB =62cm
Bisect AFB at point M.

Taking M as a centre draw a semi
circle of radius AM or BM which

intersects the right bisector at C.
Join A to C and B to C.

Thus AABC 1s the right angled
1sosceles triangle with /(" =90" .




(iv) 5.4 cm

A 540m Vi 3
Construction:
1. Take a line segment mAB =5.4cm .

ii. Bisect AB at point M.

iii. Taking M as a centre draw a semi
circle of radius AM or BM which
intersects the right bisector at C.

Iv. Join A to C and B to C.

Thus AABC 1s the rnight angled @
&

1sosceles triangle with 2C =

Q.5 (Ambiguous case) Construct a A
ABC in which
(i)  mAC =42cm mAB=52cm msB=45

LR
1.

U
111.

v.
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Construction:

Draw a line segment mAB =5.2cm.
2B =45".

With centre at A and radius 4.2cm

draw an arc which cuts BDin two

distinct points C and C .

Draw AC and AC .

.. AABC and AABC’ are required

triangles.

& 4
1l.

(R R
11l.

Iv.

(iii)

mAB=5m msA=30

- "
)
-
) ..
| 3077
B Sem A
Construction:

Take a line segment mAB = 5¢m .
At the end point A of AB make
msA=30"

Taking B as centre draw an arc of
radius 2.5¢m which touch as AD at
point C.

Jon B to C.

- AABC is required triangle.

mBC =5m mAC =3.5¢cm msB=60°
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B ~dem C
Construction: -
1. Take a line segment mBC = 5cm .

ii. At the end point B of BC make an
angle of /B =60".
1il. Taking C as centre draw an arc of
radius 3.5cm which does not
touches or intersects BX at any
point.
.. AABC 1s not possible.
O

Please visit for more data at: www.pakcity.org
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(i)

Exercise 17.2

Construct the following A’s ABC.
Draw the Bisector of their angle
and verify their Concurrency.

&
1L

LR
11l

v,

mAB =45cm mBC=3.1am mCA=52cm

Draw a line segment mAB = 4.5¢m

Taking B as centre draw an arc of
mBC =3.1cm .

Taking A as centre draw a arc
mAC =5.2¢mto cut C.
Join CtoB and Cto A
Draw the angle bisectors of
ZA, 2B and ZC meetin
other at the point 1.
All the angle bisectors pass through

point [. hence angle bisectors of

AAB( are concurrent.

mAB =42cm mBC =6cm

A ' 4.2¢m ' B

mCA=52cm

VL

VIL

L
11.

v,

Vi,

www.pakcity.org

Draw a line segment AB = 4 2¢cm .
Taking A as centre draw an arc of
radwus 5.2cm .

Taking B as centre draw another
arc of radius6¢m to intersect the
first arc at C.

Draw AC and BC . Thus AABC is
the required triangle.

Draw the bisectors of 4 and /B
meeting each other at point 1.

Now draw the bisector of third £

We observe that the third angle
bisector also passes through the point
I.

Hence the angle bisectors of the

AABC are concurrent at 1.

1. 72¢m

B

Draw a line segment mAB =3.6¢cm

Taking B as center draw an angle
of 75° .

Taking B as centre draw an arc of
radius 4.2c¢m  to intersect the
terminal sides of angle at C.

Draw AC to complete AABC.

Draw the bisector of /4 and £ZB
meeting each other at point I.

Now draw the bisector of the third
angle /(.
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vii. We observe that third angle i)  mPO=45cm mOR=39am m/R=45
bisector also passes through the | ‘ '
point I. Risviseds
Hence the angle bisectors of the : “equt o .
) b 1. To construct APQR.
5}’%8(; are SONGCTean o I whicl ii. To draw altitudes and verify their
lies within the triangle. CONCUITeNcy

Q.2 Construct the following triangles
PQR. Draw their altitudes and
show that they are concurrent.

(i) mP_Q = bcm, mQ_R =4.5¢m and
mPR =5.5¢cm

_____,__._—%é:—f;. 18 AYem

Cu @tmn

% w a line segment mQR 39cm .
28

Taking R as centre draw an angle

%@ of 45°.

iii. Taking QQ as centre draw an arc of

radius 4.5¢m which intersects the

1.
11, Taking P as centre draw an arc of terminal side of angle at P.

radius 5.5¢m . v. Join P to Q to complete the APOR .
iii.  Taking (Jas centre draw another -

arc of radius4.5cm to intersect the v. From vertex P drop 5 L R{)

first arc at R.
Iv. Join P to R and Oto R to complete

APOR . Vi. From vertex Q dropO7 LPR .
V. From vertex P drop PT 1 {?ﬁ ..
Vi Form vertex (J drnpﬁ L PR.
vii. Now from third vertex R drop
RU 1L PO Hence the three altitudes of APUR

vili. We observe that third altitude also
passes through the point of
intersection O of the first two.
Hence three altitudes of APOR

are concurrent at Q.

Please visit for more data at: www.pakcity.org

produced.

Vii. Form vertex R dropm 1 -FTJ

produced.

are concurrent at point O.



(iii)

111

1v.

vi.

mRP =3.6cm m-0=30° m/P =105

Sum of three angles in a triangle i1s
180° so.

ZP+ 20+ ZR=180°

[105+30+ ZR=180°

135+ /R =180°

ZR=180°-135°

7R =45°

So

Construction:

Draw a line segment mRP =3.6cm .

Taking R as centre, construct an
angle of 45°.

Taking P as centre draw an angle
of 105°.

Terminal arms of both angles meet

in point Q forming APOR .
From vertex P dropﬁ 1 @ .

From vertex Q drop@? L RP

produced.

vil.

Q.3

(i)

L
|
LE R
111,

v,

www.pakcity.org

Form vertex R drop RU L OP

produced.

Hence the three altitudes of APOR

are concurrent at point ().

Contract the lollowing triangles
ABC draw the perpendicular
bisector of three sides and verify
their concurrency. Do they meet
inside the triangle?

msA=45°

AB =53cm

Construction:

Draw a line segment mAB = 5.3¢cm .

At the end point A of A8 make
msA=45°,

At the end point B of A5 make
msB=30°,

Terminal sides of two angles meet
at C. The ABC 1s requiredA.
Draw perpendicular bisectors of
AB,BC and CA meeting each
other in the point O.

Hence the three perpendicular
bisectors of sides of AABC are
concurrent at O outside the

triangle.

m. B =30°

Please visit for more data at: www.pakcity.org
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mBC =2.9cm msA=30°
The sum of three angles in a
triangle 1s 180° then

FA+ 2B+ 2C =180°
30+60+ 2 =180°

90+ (" =180°

2 =180°-90°

S =90°

>

Construction:
Draw a line segment mB(C = 2.9¢ A
At the end point B of
ms B =60°.

m2C =90,

Terminal sides of two angles meet
at A. The ABC 1s requiredA.

Draw perpendicular bisectors of
AB,BC and (A meeting each
other at the point O.

Hence the three perpendicular
bisectors of sides of AABC are
concurrent at O, at the mid point of
hypotenuse.

ms B = 60°

@
o5

(iii)

I
ii.
11l

V.
‘Irl

XS

Q.4

(i)

NG

B ﬂ
N~ L~
oK/

1«4

Ml 32em C

Construction:

Take AC =3.2cm .

At A draw an angle of 120°.
Taking centre A draw an arc of
radius 2.4cm which cuts the
terminal side of angle A at point B.
Join C to B, AAB( 1s the triangle.
Dra\%erpendicular bisectors of

T

" and CA meeting each other

b,

<at the point O outside the triangle.
" Hence all the three perpendicular
bisectors are concurrent.

Construct the following As XY/ .

Draw their three medians and
show that they are concurrent.

mYZ =4.1cm msY =60° ms/X =75°

Sum of three angles in a triangle 1s

180° then
msX+mZY +msZ =180°

75+60+m-Z =180°

135+mZ =180°
ms/Z =180°-135°

m. £ = 45°

- www.pakcity.org
mAB=24cmn mAC =32cm m/A=120°
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(11)

o '
Y ’»\: 4. ]Llﬂ | Z
| _
S X Construction:
* ConstrEtmn I Takem XY = 4.5¢m .
- TakemYZ =4.1cm . ii. Taking Y as centre draw an arc of
i, Taking Z as centre draw an angle radius 3 dem.
of 457 _ iii.  Taking X as center draw another
l]lg Tﬂkll’]g Y 35 GEﬂth dfﬂw i'ln Hﬂgle arc 'ﬂ'f adius 6‘5cm t{} Cut at point
of 60°. 7
iv.  The terminal sides of these angles - Joit X to Z and Y to Z.
meet at X. | ﬁ@raw perpendicular bisectors of
Hhen AYZ 15 r_eqmredﬂ. the sides XY.YZ and XZ of
V. Draw perpendicular bisectors of @ _
the sides Q ;S fé}(‘r’f gnd make their mid point A,
and C.
AL, XY and YZ of AXYZ and vi. Join Y to mid point C to get
make their midpoints B,C & Modian e
respectively. . L. o
v JoinYtoB, midpoisQorXZtoger Vi Join Y to mid point Bto get
fBaS median median XB
. : ' A viil.  Join Z to mid point A to get
vii. Join Z to C midpoint of XY to get N —
ZC as median. Igsan ZA . .
All medians intersect at point G.
vili.  Join X to A midpoint of YZ to get ®ioce medians are concurrent &t
XA as median. GG '
All median intersect at point . Hence the
median are concurrent at G.
(iii) mZYX=43an ms/X =75 andm./Y =45

www.pakcity.org

HLTY=4,SGM nﬂE:-S.ﬁlm: m}:Yziﬁcm

Sum of three angles in a triangle 1s
180° then

msX+mZY +msZ =180°
75+45+m..Z =180°

120°+m-Z =180°

ms 2L =180°-120°

ms L =60°

Please visit for more data at: www.pakcity.org
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Iv.

vi.

Vil.

Viil.

Construction:
TakemZX =4 3cm .
Taking Z as centre draw an angle

of 60°.

Taking X as centre draw an angle @
of 75°. \
The terminal sides of these angles O©
meet at Y. & Q&)ﬁ

Then XYZ 1s requiredA.

W
Draw perpendicular bisectors of @

the sides @
XZ,YZ and XY of AXYZ and\\ ©

make their midpoints A/
respectively.

Join X to midpoint B to getﬁ as
median.

Join Z to midpoint C to get Z(" as
median.

Join Y to midpoint A to get Y4 as
median.

All median intersect at point .

Hence the median are concurrent at
g

www.pakcity.org

Please visit for more data at: www.pakcity.org



Exercise 17.3

(1) Construction a quadrilateral

ABCD, having

mAB=AC=53cn mBC =mCD=3.8cm

and mAD =2 .8cm .

J

A 5.3¢m B

Construction:

1. Draw a line segment;ﬁ =53cm .

ii. Taking B as centre draw an arc of
radius BC =3.8cm

1L Taking A as centre draw an arc of
radius AC = 5.3c¢m to cut at C.

Iv. Taking C as centre draw an arc of

radius CD =3 .8cm .

V. Taking A as centre draw an ar
radius AB = 2.8cm to cut

Vi. JomBtoC.CtoD. .
to D

ABCD 1s the required quadrilateral

(11) On the side BC construct a

Aequal in area to the
quadrilateral ABCD.

R TREY
- . S A0 | H
Construction:
I Jomn Ato C.
ii. Through D draw DP I(.'A meeting

BA produced at P.

44
1il.
*

V.

Q.2

L
il

V.

VL

Vil.

viii.

IX.

Join PC .
Then PBC is required triangle.

As APC, ADC stand on the same
base AC and same parallels AC

and PD.
Hence
AAPC = AADC

AAPC + AABC = AADC + AABC
or APB( =quadrilateral ABCD

Construct a A equal to the

quadrilateral PQRS, having
m-(jﬁ =7cm  mRS =6cm

mSP =2.75cm mZLORS = 60°
and m./ RSP =90°,

Construction:
Draw a line segment@ =Tcm .

At point R draw an angle of 60°.
Taking R as center draw an arc of
radius of 6¢cm to cut at S.

At point S draw an angle 90°,
Taking S as centre draw an arc of
radius of 5.5cm, cutting the
terminal side of 90° at point B.

Find the mid point of mSB at point
P

Join P to Q.

Draw PA parallel to :5@

JoinAto S

www.pakcity.org
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X. AARS 1s required triangle equal in Q.4  Construct a right angled triangle
area to quadrilateral PQRS. equal in area to given square.
A

B 1 C

Construct a Aequal in area to
quadrilateral ABCD having

mAB =6cm  mBC = dem, I —
AC=72em mZBAD =1 05" > >
and mBD =8cm . L | y

!"" I|| _I by

Construction:
Let measurement of each side of

square 1s 3.8cm.

. L. Construct a square ABCD with
Construction: e " each side 3.8cm long.
. Draw a line segment AB = 6¢cmt . 1L, BisectCD atE.
i Taking A as centre draw an arc of iii.  Join E and produced it to meet
radius /.2cm. @meduced inF.

Il Taking B as centre draw an arc of
radius 4cm to cut at C. Join C to A

4 {%ﬁgABF 1s required triangle equal 1n
and C to B. @ area to square ABCD.
Iv. Taking A as centre make an angle @QSS
ZOAB =105 @
V. Taking B as centre make an<a
radius 8cm to cut at D 5441‘
VL. Join D to C to comp @3 he ABCD
quadrilateral.
vii. Draw ﬁ\l CA o meet BA
produced at P.

Please visit for more data at: www.pakcity.org

vili. JonCtoP.
Thus APBC 1s the required triangle.



Q.1

Il.

Lii.

V.

VL.

Vil.

Viil.

IX.

Xi.

Exercise 17.4

Construct a A with sides 4cm,
3cm and 6ecm and construct a
rectangle having its area equal to
that of the A measure its
diagonals. Are they equal

Hem I3
k J
Construction: <

radius Scm.
Taking B as centre d.
radius 4cm to cut at C. Join A to C
and B to C.

ABC 1s the requiredA.

Draw a line / through C parallel to

AB.

Draw the L bisector of ABin D
and cutting the line at P.

On the line /, cut E equal to DB.
Join B to Q.

PQBD is the required rectangle.
The length of each diagonal
measured to be 4 S5cm.

The length of each diagonal 1s

~dITC.

Q.2

il.

11,

V.

gﬁ}@

Vil.

ix.

Q.3

'

VIIL,

Transform an isoscel®s N .Rﬂgcjlty.org

rectangle.

Construction:

Draw a line segment BC .

With B as centre draw 1n arc of
suitable radius.

With C as centre draw another are
of same radius which cuts the first
arc at point A.

@ B and A to C.

ABC 15 the 1sosceles A with

mAB=mAC .

Draw the perpendicular bisector of
BC passing through point A
Through A draw a line/| BC

On / cut Eequal to EC and the
Join C with D.

CDAE 1s the required rectangle
equal 1n area to AABC.

Construct a ABC such that
mAB =3cm, mB(C =3 8cm
and mAC = 4 8cm . Construct a

rectangle equal in area to the
AABC, and measure its sides.

Please visit for more data at: www.pakcity.org
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il.

V.

vi.

Vil.

VIIL,

1X.

A D B
1
L 4
Construction:

Draw a line segment AB =3cm

Taking B as centre draw an arc of

radius BC =3.8cm .

Taking A as centre draw an arc of

ey

radius AC =4 8cm to cut at C.
Join C to A and C to B. O%C\\Bﬁ\
ABC is the requiredA. %&%@

Through C draw a line / parallel @
—_— &

AB .

Draw the | bisector

the line / in P.

On{cut PO = DA

PQAD is the required rectangle
measure of sides of rectangle
PQAD

mPD=738m mAD=1.5cm

www.pakcity.org
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Exercise 17.5

Construct a rectangle whose
adjacent sides are 2.5cm and Scm
respectively. Construct a square
having area equal to the given

rectangle.
&

¥ ¥
1l.

ill.
v,

Q.2

CﬂﬂStLl!‘:lCtiﬂﬂ:

Make the rectangle ABCD with
given lengths of sides.

Produce AD to point E such that
mDE =mDC .

Bisect Afvat O.

With O as centre and 04

draw a semicircle cutt
produced in M.

With DM as side complete the
square DM

Construct a square equal in area
to a rectangle whose adjacent
sides are 4.5¢cm and 2.2¢cm
respectively. Measure the sides of
the square and find its area and
compare with the area of the
rectangle.

M| ™ |
A
A
\ D _
U: I | I
_ A2 20n
7’ Ak
. ‘|
B 4.5¢m C

Construction:
. Make the rectangle ABCD with

given sides.

1. Produce AD and cut mDE = mDC .

1. Bisect Af at O.
iv. With O as centre and QA radius

draw a semicircle cutting C'D
produced in M.

V. With DM as SidE: complete the

quar
ﬁ( squa:re (average) =

é\\g rea =3.15%3.15=99cm"

Area of rectangle =2.2x4.5=99cm"
Area of rectangle = Area of square

Q.3 In Q2 above verify by
measurement that the perimeter
of the square is less then that of
the rectangle.

Perimeter of rectangle = 2 [length

+ briclth]
=2[4.5+
2.2]
=2 [6.7]
= 13.4 ¢cm
Perimeter of square =4 x/
=4 x 32
= 12.8 cm

Q.4 Construct a square equal in area
to the sum of two squares having

sides 3cm and 4cm respectively.

4 www.pakcity.org
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!
Construction: -
i Draw a line segment XY .
ii.  Draw a line perpendicular ST at point
L
iii. Cut of CB =3emand CG = 4cm .
v, CG is the side of square complete
the square ACGF.
V. CB is the side of square complete
the square CBIH. @
vii JoinBtoA b
vil. AB is the side of S 30.
complete the square ABDE.
viii. ABDE is the required square. |
Using Pythagoras theorem to |
prove.
Q.5 Construct a A having base 3.5¢m

and other two sides equal to
3.4cm and 3.8cm respectively.
Transform it into a square of

equal area

www.pakcity.org

N5
-

3.d4cem,

>
_

3.8¢m

_x-'m-'—"ﬂ' T W

e
-
A
f-:,,u |
_E_ |
-
o

o aw
1.
..
Y.

Y.

vI.
Vil.

vill.

Q.6

Construction:

Draw PAQ| BC

Draw perpendicular bisector of BC
bisector it at D and meeting PA Q at P.

Drawf@ 1 @ meeting it in Q.
Take a line EFG and cut radius
EF =DPand FG = DC .

Bisect £G at O.

With O as centre and radius = OF
draw a semi-circle.

At F draw FM | EG meeting the
semi-circle at M.

With MI” as a side, complete the
required square FMNR.

Construct a A having base 5 and
other sides equal to Scm and 6¢cm
construct a square equal 1in area
to given A.

Please visit for more data at: www.pakcity.org
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Construction:

. Draw PAQ| BC @

il Draw perpendicular bisector-of ,
bisector it at D and me *‘!-YA ) at
P x5

L. Draw@ 1 W_) meeting it in Q.

iv. Take a line EFG and cut radius
EF =DPand FG = DC .

V. Bisect £G at O.

vi. With O as centre and radius= OF
draw a semi-circle.

vii. At F draw /M | EG meeting the
semi-circle at M.

vili.  With MF as a side, complete the

required square FMNR.

www.pakcity.org
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Q.1
(1)
(i1)
(iii)
(1v)
(V)
(vi)
(vil)

Q.2

(1)

(i)

(iv)

(Vi)

(vii)

Revised Exercise 17

Fill in the blanks to make the statements true:
The side of right angled triangle opposite to 90° 1s called

www.pakcity.org

The line segment joining a vertex of a tnangle which 1s to the mid point of its opposite side

i1s called a .

A line drawn from a vertex of a triangle which 1s
attitude of the triangle.

The bisectors of the three angles of a triangle are

The points of concurrency of right bisector of the three suies of the triangle are

from 1ts vertices.

to its opposite side 1s called an

Two or more triangle are said to be similar if they are equiangular and measures of their

correspending sides are

The altitudes of a rights triangle are concurrent at the of the right angle.

Answer Key

(Fill in the Blank)

Hypotenuse v Equ1d15ta/r}t\

Median V1 Pmpgﬂ'@\r@\

Perpendicular Vi X@rt@\{

1V Cot1current

A

\D@

Multiple Choice Question hoose the correct answer).

<\\

The triangle havin; sides congruent is called
(a) Scalene (b) Right angled
(c) Equilateral (d) lsosceles
A quadrilateral having each angle equal to 90° is called
(a) Parallelogram (b) Rectangle
(c) Trapezium (d) Rhombus
The right bisector of the three sides of a triangle are
(a) Congruent (b) Collinear
(c) Concurrent (d) Parallel
The altitudes of an isosceles triangle are congruent.
(a) Two (b) Three
(c) Four (d) None of these
A point equidistant from the end points of a line — segments is on its
(a) Bisector (b) Right - bisector
(¢) Perpendicular (d) Median
, congruent triangles can be made by joining the mid-point of the sides of a
triangle.
(a) Three (b) Four
(c) Five (d) Two
The diagonals of parallelogram each other.
(a) Bisect (b) Trisect

(c) Bisect at right angle (d) None of these
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(viii)

(ix)

(x)

(xi)

Q.3
(1)

(11)

www.pakcity.org
The medians of a triangle cut each other in the ration

(a) 4.1 (b) 3:1

(c) 2:1 (d) 1:1

One angle on the base of an isosceles triangle is 30°. What is the measure o its vertical
angle

(a) 30° (b) 60°

(c) 90° (d) 120°

If the three attitudes of a triangle are congruent then, the triangle will be
(a) Isosceles (b) Equilateral

(¢) Right angled (d) Acute angled

If two medians of a triangle are congruent then the triangle will be

(a) Isosceles (b) Equilateral

(¢) Right angled (d) Acute angled

Answer Key
(MCQ’S) ©)
d BRI a @Q

o " =B -“O
b BRI

t for more data at: www.pakcity.org

o®
Define the following. %
Incentre ;
The point where the internal bisectors of the angles of a triangle meet 1s called incentre of av
triangle. It 1s denoted by I. 8
0

Circumcentre
The point of concurrency of the three perpendicular bisectors of the sides of a triangle i1s
called circumcentre of a triangle. It is denoted by O.



(iii)

(iv)

(v)

www.pakcity.org

Orthocenter
The point of concurrency of three altitudes of a triangle 1s called orthocenter of a triangle. It
1s denoted by O.

O)

. —

O

>

=

O

A2

q

Q.

=

=

=

i

(©

Centroid ®
The point of concurrency of three median 160
denoted by G. 8
-

O

&

 —

O

o

A=

D

. >

A O

N

D

Point of concurrency —
Three are more than three lines are said to be concurrent 1f these lines pass through the same point an%‘

that point is called the point of concurrency. In the ﬁ[;f,we, P 1s the point of concurrency,
C "
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Unit 17: Practical Geometry — Triangles

Overview

Right bisector of a line segment

A line 7 15 called a rnight bisector of a line segment 1f ; 1s perpendicular to the
line segment and passes through 1ts mid-point.
Angle bisector

Median of a triangle

A line segment joining a vertex of a tnangle to the mid-point of the opposite
side 1s called a median of the triangle.

Altitude of a triangle
A line segment from a vertex of a triangle, pe f\ @:ulm‘ to the line containing the

opposite side, 1s called an altitude of the tna;n %\
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